CITY OF ROUND ROCK Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor
DATE: September 14, 2022

BID TABULATION

PROJECT: Lake Creek Wastewater Line Replacement

	3400 Sunrise Rd									l was control		
LOCAT	TON: Round Rock, TX 78665	Company	Name:	Austin Unde	erground, Inc.	Patin Construction LLC		Roval Vista Inc.		JKB Construction Company LLC		
	TE: 9/13/2022, 2 p.m.	company	1 (unic.				Statement of Safety? Yes		Statement of Safety? Yes		Statement of Safety? Yes	
				Addendum(s)	•	Addendum(s)	•	Addendum(s) Yes		Addendum(s) Yes		
				Bid Bond?	Yes	Bid Bond?	Yes	Bid Bond?	Yes	Bid Bond?	Yes	
				T								
ITEM #		APPROX QTY.	UNIT	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	
1	Mobilization, Bonds and Insurance, not-to-exceed 5% of the Base Bid Amount.	1	LS	\$170,000.00	\$170,000.00	\$50,000.00	\$50,000.00	\$198,000.00	\$198,000.00	\$229,000.00	\$229,000.00	
2	Provide a DVD containing Video of Project Sites Before the Start of Construction on the Project	1	LS	\$1,500.00	\$1,500.00	\$750.00	\$750.00	\$2,000.00	\$2,000.00	\$8,600.00	\$8,600.00	
3	Implement a Traffic Safety Plan (Vehicular and Pedestrian) Signed by a P.E. for Work Located in or Near the Roadway	1	LS	\$3,200.00	\$3,200.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$33,000.00	\$33,000.00	
4	Prepare, Submit, and Implement a Trench Safety Plan for Signed by P.E., in Conformance with State Law & OSHA, Including All Materials Required to Implement	1	LS	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	
£	Prepare Stormwater Pollution Prevention Plan, Including Submission to and Receiving Permits from Texas Commission on Environmental Quality	1	IG	£1.500.00	01.700.00	#2 000 00	#2.000.00	#9.500.00	#0.700.00	#5 COO OO	Ø5 (00 00	
5 6	(TCEQ)	I 50	LS	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$8,500.00	\$8,500.00	\$5,600.00	\$5,600.00	
7	Preparation of Right-of-Way Trench Safety Implementation (Trench)	58 5185	STA LF	\$220.00 \$4.00	\$12,760.00 \$20,740.00	\$5,600.00 \$5.00	\$324,800.00 \$25,925.00	\$700.00 \$10.00	\$40,600.00 \$51,850.00	\$1,750.00 \$2.75	\$101,500.00 \$14,258.75	
8	Trench Safety Implementation (Manholes/Bore Pits)	46500	SF	\$4.00	\$20,740.00	\$0.50	\$23,925.00	\$4.25	\$1,830.00	\$2.75	\$14,238.73	
9	Furnish, Install, Maintain and Remove Silt Fence	5200	LF	\$3.00	\$13,930.00	\$4.00	\$23,230.00	\$4.23 \$5.25	\$197,623.00	\$6.50	\$34,875.00	
	1 armon, motan, manitam and Komove Sht Pence	3200	LI	φ3.00	\$15,000.00	ψτ.00	\$20,000.00	ψυ.Δυ	\$47,500.00	\$0.50	\$33,000.00	

Page 1 of 10 Updated 6/17/19

CITY OF ROUND ROCK Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor

DATE: September 14, 2022

BID TABULATION

PROJECT: Lake Creek Wastewater Line Replacement

	Furnish, Install, Maintain and Remove Tree										
10	Protection	24	EA	\$250.00	\$6,000.00	\$1,000.00	\$24,000.00	\$800.00	\$19,200.00	\$1,300.00	\$31,200.00
11	Demolish and Remove Existing Manholes	19	EA	\$2,000.00	\$38,000.00	\$2,500.00	\$47,500.00	\$2,500.00	\$47,500.00	\$5,100.00	\$96,900.00
12	Abandon Existing 15" Wastewater Line In Place utilizing Flowable Fill or Slurry Mix per City of Round Rock Specifications	4300	LF	\$15.00	\$64,500.00	\$20.00	\$86,000.00	\$40.00	\$172,000.00	\$32.00	\$137,600.00
13	Abandon Existing 15" Wastewater Line in Rail Road ROW utilzing Flowable Fill or Slurry Mix per City of Round Rock Specifications	600	LF	\$25.00	\$15,000.00	\$40.00	\$24,000.00	\$60.00	\$36,000.00	\$72.00	\$43,200.00
14	Remove Exisiting 30" Wastewater Line	30	LF	\$63.00	\$1,890.00	\$40.00	\$1,200.00	\$25.00	\$750.00	\$230.00	\$6,900.00
15	Abandon Existing 8" Wastewater Line In Place	50	LF	\$25.00	\$1,250.00	\$20.00	\$1,000.00	\$50.00	\$2,500.00	\$164.00	\$8,200.00
16	Furnish all Materials, Equipment, Tools & Labor Necessary to Install 6" SDR 35 (PS46) PVC Wastewater Line	70	LF	\$50.00	\$3,500.00	\$75.00	\$5,250.00	\$22.50	\$1,575.00	\$110.00	\$7,700.00
17	Furnish all Materials, Equipment, Tools & Labor Necessary to Install 8" SDR 35 (PS46) PVC Wastewater Line	50	LF	\$73.00	\$3,650.00	\$85.00	\$4,250.00	\$20.00	\$1,000.00	\$117.00	\$5,850.00
18	Furnish all Materials, Equipment, Tools & Labor Necessary to Install 10" SDR 35 (PS46) PVC Wastewater Line	50	LF	\$89.00	\$4,450.00	\$ 100.00	\$5,000.00	\$ 30.00	\$1,500.00	\$ 135.00	\$6,750.00
19	Furnish all Materials, Equipment, Tools & Labor Necessary to Install 15" SDR 26 (PS115) PVC Wastewater Line	55	LF	\$150.00	\$8,250.00	\$125.00	\$6,875.00	\$85.00	\$4,675.00	\$190.00	\$10,450.00
20	Furnish all Materials, Equipment, Tools & Labor Necessary to Install 24" SDR 26 (PS115) PVC Wastewater Line	5000	LF	\$250.00	\$1,250,000.00	\$250.00	\$1,250,000.00	\$225.00	\$1,125,000.00	\$414.00	\$2,070,000.00
21	Furnish all Materials, Equipment, Tools & Labor Necessary to Install 30" SDR 26 (PS115) Wastewater Line	30	LF	\$420.00	\$12,600.00	\$400.00	\$12,000.00	\$395.00	\$11,850.00	\$531.00	\$15,930.00

Page 2 of 10 Updated 6/17/19

CITY OF ROUND ROCK Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor

DATE: September 14, 2022

BID TABULATION

PROJECT: Lake Creek Wastewater Line Replacement

22	Furnish all Materials, Equipment, Tools & Labor Necessary for Temporary Bypass or Bypass Pumping in order to Install the new Wastwater Line	1	LS	\$46,000.00	\$46,000.00	\$1,500.00	\$1,500.00	\$375,000.00	\$375,000.00	\$72,000.00	\$72,000.00
23	Furnish all Materials, Equipment, Tools & Labor Necessary to Install a Temporary 18" Wastewater Line Connection Near Station 26+21, Including Temporary18" Wastewater Line, Temporary Manholes, and Temporary Connections to Existing and/or New Line and Removal of all Temporary Items	1	LS	\$24,000.00	\$24,000.00	\$60,000,00	\$60,000,00	\$20,700.00	\$20,700.00	\$64,000,00	\$64,000.00
24	Furnish all Materials, Equipment, Tools & Labor Necessary to Install a Temporary 15" Wastewater Line Connection Near Station 29+47, Including Temporary 18" Wastewater Line, Temporary Manhole, and Temporary Connections to Existing and/or New Line and Removal of all Temporary Items	1	LS	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00	\$11,500.00	\$11,500.00	\$48,000.00	\$48,000.00
25	Furnish all Materials, Equipment, Tools & Labor Necessary Install Concrete Encasement	75	LF	\$170.00	\$12,750.00	\$100.00	\$7,500.00	\$115.00	\$8,625.00	\$506.00	\$37,950.00
26	Furnish all Materials, Equipment, Tools & Labor Necessary Install Concrete Cap	525	LF	\$70.00	\$36,750.00	\$50.00	\$26,250.00	\$40.00	\$21,000.00	\$230.00	\$120,750.00
27	Furnish all Materials, Equipment, Tools & Labor Necessary to Install 42" Steel Encasement by Bore under Rail Road ROW	430	LF	\$1,900.00	\$817,000.00	\$1,500.00	\$645,000.00	\$1,275.00	\$548,250.00	\$1,400.00	\$602,000.00
28	Allowance for Coordinating and Reimbursing the Cost for RailPros for Rail Line Inspection durning installtion of the Steel Encasement Pipe under Rail Road ROW. Reimbursement to paid RailPro Invoice plus 15%.	1	LS	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00

Page 3 of 10 Updated 6/17/19

CITY OF ROUND ROCK BIDS EXTENDED AND CHECKED

Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BID TABULATION

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor

DATE: September 14, 2022

	Allowance for Coordinating and Reimbursing the Cost for UPRR Certified Rail Survey to provide surveying of Centerline of Track durning installtion of the Steel Encasement Pipe under Rail Road ROW.										
	Reimbursement to paid Invoice plus 15%.	1	LS	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Install New 5' Diameter Fiberglass Wastewater Manholes, Inlcuding Inverts	130	VF	\$1,300.00	\$169,000.00	\$1,500.00	\$195,000.00	\$1,800.00	\$234,000.00	\$1,500.00	\$195,000.00
31	Furnish all Materials, Equipment, Tools & Labor Necessary to Install New 5' Diameter Fiberglass Water Tight Wastewater Manholes, Inlcuding Inverts	195	VF	\$1,900.00	\$370,500.00	\$2,050.00	\$399,750.00	\$2,450.00	\$477,750.00	\$1,900.00	\$370,500.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Install New 5' Diameter Fiberglass Water Tight Wastewater Manhole with Vent, Inleuding Inverts	1	EA	\$27,000.00	\$27,000.00	\$32,000.00	\$32,000.00	\$33,560.00	\$33,560.00	\$27,500.00	\$27,500.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Install New 4' Diameter Wastewater Water Tight Manholes, Inleuding Inverts	65	VF	\$1,300.00	\$84,500.00	\$2,000.00	\$130,000.00	\$4,770.00	\$310,050.00	\$1,400.00	\$91,000.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect to Existing Concrete Manholes, Including Coring, Connection, Rebuilding Inverts, and Fiberglass Manhole Insert	2	EA	\$4,600.00	\$9,200.00	\$5,000.00	\$10,000.00	\$8,850.00	\$17,700.00	\$10,200.00	\$20,400.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect to Existing Fiberglass Manhole (30" Opening) with new 30" PVC Pipe	1	EA	\$4,200.00	\$4,200.00	\$6,500.00	\$6,500.00	\$9,800.00	\$9,800.00	\$17,500.00	\$17,500.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect Existing 6" WWL to Proposed Manholes	2	EA	\$4,000.00	\$8,000.00	\$ 5,000.00	\$10,000.00	\$ 1,000.00	\$2,000.00	\$ 4,800.00	\$9,600.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect Existing 8" WWL to Proposed Manholes	7	EA	\$4,000.00	\$28,000.00	\$6,500.00	\$45,500.00	\$1,500.00	\$10,500.00	\$4,800.00	\$33,600.00

Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor

DATE: September 14, 2022

BID TABULATION

PROJECT: Lake Creek Wastewater Line Replacement

IKO	LCT. Lake Creek wastewater Line Replacement	ı		1					1		
	Furnish all Materials, Equipment, Tools & Labor										
	Necessary to Connect Existing 10" WWL to										
38	Proposed Manholes	1	EA	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
	Furnish all Materials, Equipment, Tools & Labor										
l	Necessary to Connect Existing 12" WWL to										
39	Proposed Manholes	1	EA	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00	\$2,500.00	\$2,500.00	\$5,300.00	\$5,300.00
	Furnish all Materials, Equipment, Tools & Labor										
	Necessary to Connect Existing 15" WWL to										
40	Proposed Manholes	2	EA	\$4,000.00	\$8,000.00	\$7,500.00	\$15,000.00	\$2,800.00	\$5,600.00	\$7,200.00	\$14,400.00
	Furnish all Materials, Equipment, Tools & Labor										
	Necessary to Connect Existing 18" WWL to										
41	Proposed Manholes	2	EA	\$4,000.00	\$8,000.00	\$7,500.00	\$15,000.00	\$3,000.00	\$6,000.00	\$6,800.00	\$13,600.00
	Furnish all Materials, Equipment, Tools & Labor										
	Necessary to Connect Proposed 30" WWL to										
42	Existing Manhole	1	EA	\$4,000.00	\$4,000.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	\$18,100.00	\$18,100.00
	Furnish all Materials, Equipment, Tools & Labor										
	Necessary for Installation and Establishment of										
	Hydromulch with Flexible Growth Medium in										
43	Accordance with Technical Specification	16500	SY	\$4.50	\$74,250.00	\$3.00	\$49,500.00	\$7.00	\$115,500.00	\$4.00	\$66,000.00
	Furnish all Materials, Equipment, Tools & Labor										
	Necessary for Defelction Testing of the Wastewater										
44	Line in Accordance with Technical Specification	1	LS	\$13,000.00	\$13,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$13,700.00	\$13,700.00
	Furnish all Materials, Equipment, Tools & Labor						·	·	·		
	Necessary for Air Testing of the Wastewater Line in										
45	Accordance with Technical Specification	1	LS	\$6,500.00	\$6,500.00	\$15,000.00	\$15,000.00	\$8,000.00	\$8,000.00	\$13,700.00	\$13,700.00
	Furnish all Materials, Equipment, Tools & Labor			. ,		,	, ,	. ,		,	. , ,
	Necessary for Vacuum Testing of Manholes in										
46	Accordance with Technical Specification	36	EA	\$630.00	\$22,680.00	\$250.00	\$9,000.00	\$1,000.00	\$36,000.00	\$682.00	\$24,552.00
	TOTAL			,	\$3,591,170.00		\$3,817,100.00	7,	\$4,384,460.00	* **	\$4,939,465.75
	IOIAL				Ψυ,υν1,1110.00		ψυ,017,100.00		Ψ-1,00-1,000.00		ψ-192229-13

Indicates incorrect amount based on written number form

Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor
DATE: September 14, 2022

BID TABULATION

PROJECT: Lake Creek Wastewater Line Replacement

BID DA	TE: 9/13/2022, 2 p.m.		Addendum(s) Yes		Addendum(s)?		Statement of Safety? Yes Addendum(s)?		Statement of Safety? Yes Addendum(s)? Bid Bond? Yes		
ITEM #		APPROX QTY.		UNIT PRICE	COST	Bid Bond? UNIT PRICE	Yes	Bid Bond? UNIT PRICE	Yes	UNIT PRICE	COST
	Mobilization, Bonds and Insurance, not-to-exceed 5% of the Base Bid Amount.	1	LS	\$250,000.00	\$250,000.00		\$0.00		\$0.00		\$0.00
	Provide a DVD containing Video of Project Sites Before the Start of Construction on the Project	1	LS	\$650.00	\$650.00		\$0.00		\$0.00		\$0.00
	Implement a Traffic Safety Plan (Vehicular and Pedestrian) Signed by a P.E. for Work Located in or Near the Roadway	1	LS	\$25,000.00	\$25,000.00		\$0.00		\$0.00		\$0.00
	Prepare, Submit, and Implement a Trench Safety Plan for Signed by P.E., in Conformance with State Law & OSHA, Including All Materials Required to Implement	1	LS	\$1,000.00	\$1,000.00		\$0.00		\$0.00		\$0.00
	Prepare Stormwater Pollution Prevention Plan, Including Submission to and Receiving Permits from Texas Commission on Environmental Quality (TCEQ)	1	LS	\$18,000.00	\$18,000.00		\$0.00		\$0.00		\$0.00
	Preparation of Right-of-Way	58	STA	\$3,075.00	\$178,350.00		\$0.00		\$0.00		\$0.00
7	Trench Safety Implementation (Trench)	5185	LF	\$1.00	\$5,185.00		\$0.00		\$0.00		\$0.00
8	Trench Safety Implementation (Manholes/Bore Pits)	46500	SF	\$0.50	\$23,250.00		\$0.00		\$0.00		\$0.00
9	Furnish, Install, Maintain and Remove Silt Fence	5200	LF	\$5.55	\$28,860.00		\$0.00		\$0.00		\$0.00

Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BID TABULATION

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor

DATE: **September 14, 2022**

	Furnish, Install, Maintain and Remove Tree							
10	Protection	24	EA	\$170.00	\$4,080.00	\$0.00	\$0.00	\$0.00
11	Demolish and Remove Existing Manholes	19	EA	\$850.00	\$16,150.00	\$0.00	\$0.00	\$0.00
	Abandon Existing 15" Wastewater Line In Place							
	utilizing Flowable Fill or Slurry Mix per City of							
12	Round Rock Specifications	4300	LF	\$30.00	\$129,000.00	\$0.00	\$0.00	\$0.00
	Abandon Existing 15" Wastewater Line in Rail Road							
	ROW utilzing Flowable Fill or Slurry Mix per City							
13	of Round Rock Specifications	600	LF	\$30.00	\$18,000.00	\$0.00	\$0.00	\$0.00
14	Remove Exisitng 30" Wastewater Line	30	LF	\$115.00	\$3,450.00	\$0.00	\$0.00	\$0.00
15	Abandon Existing 8" Wastewater Line In Place	50	LF	\$3.00	\$150.00	\$0.00	\$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor							
	Necessary to Install 6" SDR 35 (PS46) PVC							
16	Wastewater Line	70	LF	\$233.00	\$16,310.00	\$0.00	\$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor							
	Necessary to Install 8" SDR 35 (PS46) PVC							
17	Wastewater Line	50	LF	\$239.00	\$11,950.00	\$0.00	\$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor							
	Necessary to Install 10" SDR 35 (PS46) PVC							
18	Wastewater Line	50	LF	\$250.00	\$12,500.00	\$0.00	\$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor							
	Necessary to Install 15" SDR 26 (PS115) PVC							
19	Wastewater Line	55	LF	\$270.00	\$14,850.00	\$0.00	\$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor							
	Necessary to Install 24" SDR 26 (PS115) PVC							
20	Wastewater Line	5000	LF	\$463.00	\$2,315,000.00	\$0.00	\$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor							
	Necessary to Install 30" SDR 26 (PS115)							
21	Wastewater Line	30	LF	\$500.00	\$15,000.00	\$0.00	\$0.00	\$0.00

Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

PROJECT: Lake Creek Wastewater Line Replacement

Cost for RailPros for Rail Line Inspection durning installtion of the Steel Encasement Pipe under Rail Road ROW. Reimbursement to paid RailPro Invoice

28

plus 15%.

BID TABULATION

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor

DATE: September 14, 2022

Furnish all Materials, Equipment, Tools & Labor Necessary for Temporary Bypass or Bypass Pumping 22 in order to Install the new Wastwater Line \$316,000.00 \$316,000.00 \$0.00 \$0.00 \$0.00 Furnish all Materials, Equipment, Tools & Labor Necessary to Install a Temporary 18" Wastewater Line Connection Near Station 26+21, Including Temporary 18" Wastewater Line, Temporary Manholes, and Temporary Connections to Existing and/or New Line and Removal of all Temporary 23 Items LS \$80,500.00 \$80,500.00 \$0.00 \$0.00 \$0.00 Furnish all Materials, Equipment, Tools & Labor Necessary to Install a Temporary 15" Wastewater Line Connection Near Station 29+47, Including Temporary 18" Wastewater Line, Temporary Manhole, and Temporary Connections to Existing and/or New Line and Removal of all Temporary 24 Items 1 LS \$52,000.00 \$52,000.00 \$0.00 \$0.00 \$0.00 Furnish all Materials, Equipment, Tools & Labor 25 Necessary Install Concrete Encasement 75 LF \$140.00 \$10,500.00 \$0.00 \$0.00 \$0.00 Furnish all Materials, Equipment, Tools & Labor 26 525 LF Necessary Install Concrete Cap \$70.00 \$36,750.00 \$0.00 \$0.00 \$0.00 Furnish all Materials, Equipment, Tools & Labor Necessary to Install 42" Steel Encasement by Bore under Rail Road ROW 430 \$494,500.00 \$0.00 \$0.00 \$0.00 LF \$1,150.00 Allowance for Coordinating and Reimbursing the

\$125,000.00

\$0.00

\$125,000.00

1

\$0.00

\$0.00

CITY OF ROUND ROCK Utilities & Environmental Services 3400 Sunrise Road

Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Amanda Taylor
DATE: September 14, 2022

BID TABULATION

	Allowance for Coordinating and Reimbursing the Cost for UPRR Certified Rail Survey to provide surveying of Centerline of Track durning installtion of the Steel Encasement Pipe under Rail Road ROW.							
29	Reimbursement to paid Invoice plus 15%.	1	LS	\$25,000.00	\$25,000.00	\$0.0	0 \$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Install New 5' Diameter Fiberglass Wastewater Manholes, Inleuding Inverts	130	VF	\$1,415.00	\$183,950.00	\$0.0	0 \$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Install New 5' Diameter Fiberglass Water Tight Wastewater Manholes, Inlcuding Inverts	195	VF	\$1,995.00	\$389,025.00	\$0.0	0 \$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Install New 5' Diameter Fiberglass Water Tight Wastewater Manhole with Vent, Inleuding Inverts	1	EA	\$30,000.00	\$30,000.00	\$0.0	0 \$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Install New 4' Diameter Wastewater Water Tight Manholes, Inlcuding Inverts	65	VF	\$1,500.00	\$97,500.00	\$0.0	0 \$0.00	\$0.00
34	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect to Existing Concrete Manholes, Including Coring, Connection, Rebuilding Inverts, and Fiberglass Manhole Insert	2	EA	\$21,500.00	\$43,000.00	\$0.0	0 \$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect to Existing Fiberglass Manhole (30" Opening) with new 30" PVC Pipe	1	EA	\$2,700.00	\$2,700.00	\$0.0	0 \$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect Existing 6" WWL to Proposed Manholes	2	EA	\$6,800.00	\$13,600.00	\$0.0	0 \$0.00	\$0.00
	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect Existing 8" WWL to Proposed Manholes	7	EA	\$7,000.00	\$49,000.00	\$0.0	0 \$0.00	\$0.00

Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY:

Amanda Taylor

DATE: September 14, 2022

BID TABULATION

DDOIECT: Lake Creek Westerwater Line Denlegement

	TOTAL				\$5,174,460.00	= 15 mm (C)	\$0.00	\$0.00
46	Furnish all Materials, Equipment, Tools & Labor Necessary for Vacuum Testing of Manholes in Accordance with Technical Specification	36	EA	\$525.00	\$18,900.00	THE OF THE	\$0.00	\$0.00
45	Furnish all Materials, Equipment, Tools & Labor Necessary for Air Testing of the Wastewater Line in Accordance with Technical Specification	1	LS	\$21,000.00	\$21,000.00	\$0.00	\$0.00	\$0.00
44	Furnish all Materials, Equipment, Tools & Labor Necessary for Defelction Testing of the Wastewater Line in Accordance with Technical Specification	1	LS	\$13,000.00	\$13,000.00	\$0.00	\$0.00	\$0.00
43	Necessary for Installation and Establishment of Hydromulch with Flexible Growth Medium in Accordance with Technical Specification	16500	SY	\$1.00	\$16,500.00	\$0.00	\$0.00	\$0.00
42	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect Proposed 30" WWL to Existing Manhole	1	EA	\$21,000.00	\$21,000.00	\$0.00	\$0.00	\$0.00
41	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect Existing 18" WWL to Proposed Manholes	2	EA	\$9,000.00	\$18,000.00	\$0.00	\$0.00	\$0.00
40	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect Existing 15" WWL to Proposed Manholes	2	EA	\$8,800.00	\$17,600.00	\$0.00	\$0.00	\$0.00
39	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect Existing 12" WWL to Proposed Manholes	1	EA	\$8,500.00	\$8,500.00	\$0.00	\$0.00	\$0.00
38	Furnish all Materials, Equipment, Tools & Labor Necessary to Connect Existing 10" WWL to Proposed Manholes	1	EA	\$4,200.00	\$4,200.00	\$0.00	\$0.00	\$0.00

Indicates incorrect amount based on written number form

9-15-2022

Page 10 of 10

Updated 6/17/19